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GENERAL STUDIES (PAPER-III)

Time Allowed : Three Hours Maximum Marks ;: 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided, No marks will be given for answers written in a medium other than the
authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words each, whereas answers to
Question Nos. 11 to 20 should be in 250 words each.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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. o o o # fafwin dy PR W we wo fo H1 A g freimm T e W% F R
HEYH 8| T A § AR ) gauE el Tl Hifm) (¥ 150 w=41 § Afm)
Faster economic growth requires increased share of the manufacturing sector in

GDP, particularly of MSMEs. Comment on the present policies of the Government in
this regard. (Answer in 750 words)

. wRdl sderaen 7 fefafmm ) Bl w0 27w day @ o el Smeneit = vl B s
g % fom gem ifsn (W 150 w=di # i)

What is the status of digitalization in the Indian economy? Examine the problems
faced in this regard and suggest improvements. (Answer in 150 words)

. FN IR F I vg foon § §os el 6 e ouwn Te e 8 3 awemn
(I 150 w1 7 Fifem)

How does e-Technology help farmers in production and marketing of agricultural
produce? Explain it. (Answer in 150 words)

. i B offt e ¥ S v 39 ) A s wudE ¥ siwta, vy e w0 de A
¥ uH yweE gur g W gEe R, R Hifm (3 150 w=t & Hfem)
State the objectives and measures of land reforms in India. Discuss how land ceiling

policy on landholding can be considered as an effective reform under economic
criteria. [Answer in 150 words)

. FFE ARE (To o) Fi s@EuTN F yisE € e AEe Fefiwa fem § ¥ v w2 W
AN @ da W To age F IwEm i =ufE A fwwm B w2 wen wegw w0 5

(31 150 w=t & Aifm)
Introduce the concept of Artificial Intelligence (Al), How does Al help clinical

diagnosis? Do you perceive any threat to privacy of the individual in the use of
Al in healthcare? (Answer in 150 words)

. 3 Tafm wh=l W w=l A S g e B o fw R el @ e e o B
(W 150 =1 | Hifsw)

Discuss several ways in which microorganisms can help in meeting the current fuel
shortage. (Answer in 150 words)

. Al fawe T veaEd B9, Ry w0 @ R 6 e, B iommesy de o ah
il gFEr g R &l f feam ¥ fBfim sl = e S 92 9id B feeei ¥ 9
T A (IR 150 7=t A Hifem)

Dam failures are always catastrophic, especially on the downstream side, resulting
in a colossal loss of life and property. Analyze the various causes of dam failures.

Give two examples of large dam failures. (Answer in 150 words)
. o9 W 1 37 v whfRfef @ o v w87 wa W 3w S B fee w8 A9
faim =0 @ ofErs 27 (I 150 w=21 § Hifm)

What is oil pollution? What are its impacts on the marine ecosystem? In what way is
oil pollution particularly harmful for a country like India?
(Answer in 150 words)
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15.

SRR &6 8 e w1 fam e w0 8 Re ol fm’ e w s wmm b
W g § s 3 i § ded amae e F s 3§ e g s T et g st S
(3m 150 =81 | Hifem)
Winning of Hearts and Minds' in terrorism-affected areas is an essential step in
restoring the trust of the population. Discuss the measures adopted by the

Government in this respect as part of the conflict resclution in Jammu and
Kashmir. (Answer in 150 words)

i TR # I T EfeEn e -awee, 3 s wefEa g A (3o o o) ) wer A wgEmm
I #EE g F Ty fi mao @) @ W A Fee % R B o @ seel w Rt it
(I 150 w=i # #ifem)
The use of unmanned aerial vehicles (UAVs) by our adversaries across the borders
to ferry arms/ammunitions, drugs, etc., is a serious threat to the internal security.
Comment on the measures being taken to tackle this threat.
(Answer in 150 words)

WA A HaE e A0 v § s ) e 3 et £ e F R s i
ghigm fifm 3 gur ¥ gaw @) (I 250 W=t & Hfsm)

Most of the unemployment in India is structural in nature. Examine the
methodology adopted to compute unemployment in the country and suggest

improvements. (Answer in 250 words)
v wdEEen’ d@R ‘ghea adermen’ ¥ dm osiw Hifw often avfeem F 2o T
sdsraen #) gdiFa sdstaen A 83 @ W wew 7 (3 250 = # @ifi)

Distinguish between ‘care economy' and ‘monetized economy’. How can care
economy be brought into monetized economy through women empowerment?
(Answer in 250 words)

mﬁﬁqﬁﬁmmﬂﬁvﬂaﬁq%ﬁﬁﬁ,mﬁmﬁm{mﬁnﬁmﬁ@m#
T Fitan | (3 250 w=1 & #ifm)

Explain the changes in cropping pattern in India in the context of changes in
consumption pattern and marketing conditions, {Answer in 250 words)

W & FM & F wer ) A ATl TEe w swey ahed ® §7 fe s g (zege Ao
o) T 3Bm M FH fEd wEfi qE A R Hifwg (I 250 w==t 7 Hifi)
What are the direct and indirect subsidies provided to farm sector in India? Discuss

the issues raised by the World Trade Organization (WTO) in relation to agricultural
subsidies. (Answer in 250 words)

zﬁﬁﬁmﬁaﬁmgﬁmmﬁﬁ?ﬁﬁa@mammﬂmmﬂﬁ%mﬁ
AEH FA § A U 7w T A B ogen § 3 W e 9w e we 8

(I 250 w=} § Hifsm)
The adoption of electric vehicles is rapidly growing worldwide. How do electric

vehicles contribute to reducing carbon emissions and what are the key benefits they
offer compared to traditional combustion engine vehicles?

(Answer in 250 words)
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16.

17.
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19.

WA % et Jxm firee 1 e w wn b Rl s wed ¥ fem § wifie T R ww? e i
3 76w = wifte w0 R & 3 e € wafE siafeg-am i sl € s fifsg o
fawn wv siafs 2 F s wém Frdaw = 8 e = v fifi Bl fiefe @
% waam # drER B Ry (3w 250 =) § difem)

What is the main task of India’s third moon mission which could not be achieved in
its earlier mission? List the countries that have achieved this task. Introduce the
subsystems in the spacecraft launched and explain the role of the Virtual Launch
Control Centre' at the Vikram Sarabhai Space Centre which contributed to the

successful launch from Sriharikota. (Answer in 250 words)
I SR T T TR T Tt smif s s w0 fowl Hif o oae w8 e
FiE weE A v f T aEiE § Tw fafe (W 250 w1 7 i)

Comment on the National Wetland Conservation Programme initiated by the
Government of India and name a few India’s wetlands of international importance
inchuded in the Ramsar Sites. (Answer in 250 words)

ST e T Hm-arEr e (e flo wo Te) 3 Aftyeh wam-wW # 2100 FEl TH W TH
dz A g =1 iR @ 31 R wew dm # v s g@ A v w0 o e
(3® 250 ¥t A difem)

The Intergovernmental Panel on Climate Change (IPCC) has predicted a global sea
level rise of about one metre by AD 2100. What would be its impact in India and the

other countries in the Indian Ocean region? {Answer in 250 words)
WA T A A W e sate e gt = § 38 am wogeeen w9 ¥ o e
¥4 gitm v <9 R B g 9w (I 250 weat | Hifam)

What are the internal security challenges being faced by India? Give out the role of
Central Intelligence and Investigative Agencies tasked to counter such threats.
(Answer in 250 words)

wIE & srdwar % fwemm % yam g ol w B w20 % R By e @
e A, T AR T R A e 2022 § @ awwar F fm e R (T We THo Fo)’
Wi % @ wd Ry 6§ faEem fiftm) (I 250 a1 3§ #ifem)
Give out the major sources of terror funding in India and the efforts being made to
curtail these sources. In the light of this, also discuss the aim and objective of the

‘“No Money for Terror (NMFT)’ Conference recently held at New Delhi in November
2022. (Answer in 250 words)
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